
;+s]t g+= /sd

1

1=01

1=01=1 16000000

1=01=4 300000

1=02

1=02=1 1800000

1=02=3 500000

1=03 25000

1=04 600000

1=05 5000

1=06 25000

1=07 4000000

1=08 300000

2

2=01 300000

2=02 150000

2=03 2177194

x'nfs, sl<o< vr{ 5000.00

la!fkg < ;'rgf k|sfzg 300000.00

a}s b:t'< 2194.00

:^]zg<L 400000.00

sfof{no ;fdfg, d;nGw 400000.00

%kfO{ 300000.00

k':ts vl<b 30000.00

kqklqsf vl<b 30000.00

('jfgL vr{ 5000.00

kmf]^f]slk vr{ 200000.00

n'uf w'nfO{ vr{ 5000.00

;jf<L ;fwgsf] b'#{^gf jLdf vr{ 100000.00

sd{rf<L kbk"lt{ ;DjGwL vr{ 300000.00

dflysf] vr{df gk<]sf cGo sf=;= ;DjlGw vr{ 100000.00

2=04 550000

;jf<L ef*f 100000.00

hUuf ef*f 450000.00

2=05 950000

;jf<L ;fwg dd{t 500000.00

sDKo"^< dd{t 250000.00

sfof{no ;fdfg + kmlg{r< dd{t 100000.00

cGo dd{t - h]g]<]^<, df]^< cflb 100000.00

2=06

2=06=1 850000

2=06=2 500000

2=06=3 50000

2=06=4 O{Gwg h]g]<]^< 350000

2=07 k<fdz{ tyf cGo ;]jf z'Ns vr{

tflnd sfo{s|d vr{

sfof{no ;~rfng < ;]jf vr{

kfgL tyf lah'nL dxz'n

;_rf< dxz'n

sfof{no ;~rfng ;DjlGw vr{

ef*f

dd{t ;Def<

OGwg tyf cGo OGwg

;jf<L OGwg kbflwsf<L

;jf<L OGwg sd{rf<L

cGo OGwg

tna

tnj sd{rf<L

aLdf lk|ldod vr{

eQf

sd{rf<L eQf

a}&s eQf

;?jf e|d)f vr{ tyf b}lgs eQf

vfBfGg tyf cfxf<

cf}iflw pkrf<

bds gu/kflnsf sfof{no

cf=j= @)&#÷)&$ sf] cg'dflgt vr{sf] laj/0f
vr{ zLif{s

pkef]u vr{



;+s]t g+= /sd

bds gu/kflnsf sfof{no

cf=j= @)&#÷)&$ sf] cg'dflgt vr{sf] laj/0f
vr{ zLif{s

2=07=1 300000

2=07=2 ;<;kmfO{ tyf cGo ;]jf z'Ns 50000

2=08

2=08=1 200000

2=08=2 50000

2=08=3 100000

2=08=4 500000

2=08=5 1076277.00

lrof, gf:tf < vfgf vr{ 400000.00

cltly ;Tsf<, :jfut$f< lgdf{)f 350000.00

kj{ k"hf cfhf vr{ 76277.00

cGo laljw vr{ 250000.00

3

3=01 400000

3=03 300000

3.04 ;fdflhs ;'<Iff cg'bfg 55000000

4

4=04

4=05=1 100000

4=05=2 800000

4=06 1000000

4=07 5000000.00

4=08 4975000.00

af?)foGq sd{rf<L tnj 3500000.00

550000.00

af?)foGq < ;jjfxgsf] OGwg vr{ 300000.00

af?)foGq < ;jjfxgsf] dd{t vr{ 250000.00

;jjfxg rfnsnfO{ l^«k PnfpG; 25000.00

cf}hf< < ;fdfu|L vl<b 200000.00

af?)foGq kf]zfs vr{ 150000.00

11.01 Jofh e'QmfgL - gu< ljsf; sf]if 300000

12 500000

100083471

5

5=01 10000

5.02 ejg vl<b 10000

6

6=01 kmlg{r< 400000

6=02 ;jf<L ;fwg 300000

6=03 800000

6=04 ejg lgdf{)f 15500000

JojzfoLs ejg lgdf{)f 5000000

sfof{no ejg lgdf{)f 10000000
ejg/^x<f dd{t < lgdf{)f ;'wf< 500000

6=05 136464767

d]lzg<L cf}hf< tyf cGo pks<)f

;fj{hlgs lgdf{)f vr{

kF"lh lgdf{)f vr{

sfo{s|d e|d)f vr{ kbflwsf<L

sfo{s|d e|d)f vr{ sd{rf<L

lgld{t ;fj{hlgs ;DklQsf] ;Def< vr{

gu<sf] ;<;kmfO{ tyf kmf]xf]<d}nf Joj:yfkg vr{

af?)foGq < ;jjfxg ;_rfng vr{

lkmtf{ vr{

rfn' vr{sf] hDdf

k"Flh ^«fG;km< vr{

hUuf v<Lb

sfo{s|d vr{

laljw vr{

;b:otf z'Ns

cfly{s ;xfotf

k'<:sf<

gu< kl<ifb ;_rfng vr{

laljw vr{

cg'bfg

;fj{hlgs ;_:yfnfO{ cg'bfg

;]jf vr{



;+s]t g+= /sd

bds gu/kflnsf sfof{no

cf=j= @)&#÷)&$ sf] cg'dflgt vr{sf] laj/0f
vr{ zLif{s

6.05.01 j*fut of]hgfx? 28500000

6=05=02 gu< :tl<o of]hgfx? 8500000

6.05.03 hu]*fsf]ifjf^ ;_rfng ul<g] of]hgfx? 15000000

6=05=04 afnjflnsf nlIft sfo{qmd 6875000

6=05=05 dlxnf nlIft sfo{qmd 4584000

6=05=06 cflbjf;L nlIft ;d]tsf sfo{qmd 6875000

6=05=07 k|a${gfTds sfo{qmd 11000000

6=05=08 10000000

6.05.9 cfof]hgf Joj:yfkg vr{ 1726767

6=05=10 PnhLl;l*kL sfo{qmd ;_rfng 31204000

6=05=13 cfGtl<s >f]tjf^ ;_rfng x'g] ;fgfltgf of]hgfx? 5000000

6=05=14 ufFp gu< ;fem]bf<L sfo{s|d ;_rfng < Joj:yfkg 2200000

6=05=15 ut aif{sf] e'QmfgL lbg afFsL 5000000

6=06 8810362

;*sjf]*{jf^ ;_rfng ul<g] of]hgf 6300000

cGo dd{t ;'wf< - dd{t sf]if 1510362

;*sjlQ Joj:yfkg < dd{t ;'wf< 1000000

6=07 2500000

8

8=01 500000

laleGg ;fj{hlgs ;_:yfx?nfO{ cg'bfg lbg 500000

8=03 500000

cGo ;]jfd'ns ;_:yfnfO{ cg'bfg 500000

9=02

10.01 ;fFjf e'QmfgL - gu< ljsf; sf]if 500000

166295129

266378600

;]jfd"ns ;_:yfnfO{ cg'bfg

e}kl< cfpg]

k"Flhut tkm{sf] hDdf
s'n hDdf vr{

k_"lhut ;'wf< vr{

cWofog tyf k"lhut k|fljlws k<fdz{ ;]jf vr{

k"Flhut cg'bfg

;fj{hlgs ;_:yfnfO{ cg'bfg


